(DBMAT31)
ASSIGNMENT-1
B.A./B.Sc. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
MATHEMATICS III — RINGS AND LINEAR ALGEBRA
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Define characteristic of an integral domain. Prove that it is either zero or a prime number.
o Yol (DBF0 B0, rEBREHI DYGDoNodk. BB WAy BT (DR VoRy WHBOOER

DEITN0N0E.

The homomorphic image of a ring is a ring.

2.8 HOAV0 BWE); VNTBTIT® (D00 HIT© HOADY B0,

Show that S:{(1,2, 4), (1,0,0), (0,1,0), (0,0, 1)} is a linearly dependent subset of the

vector space V3(R) where R is a field of real numbers.
BE,G R 038 77908 Dopge By, 98, 908 S=1{(1,2,4), (1,0,0), (0,1,0), (0,0,1) | axver

DOPBHHD HI*D06.

Show that S ={ (%, 0, %] , (_?4, 0, gj ,(0,1,0) } is an orthonormal set in R?.

S :{ [g 0, %j , [_—54 0, %] ,(0,1,0) } 05098 R?S® 2.8 e9d002 D08 @ H30008.

1 0 -4 5
Find the rank of the matrix A=| 2 -1 3 0
8 1 0o -7

P D B@EK 53D EH0RTHod.

Describe the explicitly linear transformation 7:R% — R? such that 7'(1,2)=(3,0) and
T2,1)=(@1,2).

T:R® - R [©d000%20 T(1,2)=(3,0) $08c» T(2,1)=(1,2) m™ JEON wver 8IS

éégs:aobo&.



1.

(DBMAT31)
ASSIGNMENT-2
B.A./B.Sc. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
MATHEMATICS III — RINGS AND LINEAR ALGEBRA
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

State and prove Triangle inequality.

19802 VITPIB 70 [DDD0D dEITVoD 0.

1 -1 0
0 1 1

2 1 2

Find the inverse of the given matrix A =

P D0 |8% DSHI0R) E5087,06.

@ () Tf QvZ ={a+bv2/a,beQ | then show that Q(v2) is a field.
Q2 = {a+bv2/a,beQ | wond ogps @2) a8 EBo emso0sd $3008.

(i1) Prove that the rings of integers is a principal ideal ring.

DT OE HOADD (DR DE0IS HO03IH0D BTD0E.

(b) (@) State and prove fundamental theorem of homomorphism of rings.

JOOI0 BWE); VDIEIZIB D ?ozgo@“g)& DHD0d, dETVoVOE.

(i) If R is a commutative ring, a € R then Ra = { ry/T€R } is an ideal of R.
R 38 2 050753635 BoR $08a50 a € R ®owd e9pid Ra={r,/reR | &36

R B%¥); eaddgéoébg;é@ @9 EIFN0H0E.

(a) (1) If Sis a subset of a vector space V(F ), then prove that
(1) Sisasubspaceof V< L(S)=S
@  LLS)=L(S)

V(F) 98%0860°w8 S 2.8 &95908 eo0nd
(1) V &S éarohoessdn < L(S)=S

)  L(L(S))= L(S) & d50é.



(b)

(a)

(b)

(a)

(b)

(i1)

(i1)

(i1)

®

(i1)

®

(1)

If W, and W, are subspaces of a finite dimensional vector space V(F), then
prove that dim(W, + W,) = dim W, + dim W, — dim(W, n W,)

V(F) 9808 983 WOTodoerdd W, D08a5n W, &rododo eond
dim(W, + W,) = dim W, + dim W, — dim(W, N W,) e 955290508,

State and prove Rank-Nullity theorem.

§%3 BIRS ?ozgoé:éooéo DDV09, DETV0WV0E.

Show that the set {(1, 0,0) 1,1,0), (1,1,1) } is a basis of C3(C) but not a basis of
C*(R)

{@,0,0) (1,1,0), (1,1,1) } @50 908 C*(C) £ e35°8509B0089 520 C*(R) 9%

350 POl JETPN0N0E.

-2 2 -3
Find the characteristic equation and eigen valuesof | 2 1 -6
-1 -2 0

R DBE BooE); KRS DHEG N0 0BT DA DevHe EXORH0E.

-10 6 3 0 -6 -16
Prove that the matrices | -26 16 8 |and| 0 17 45 |are similar.
16 -10 -5 0 -6 -16
-10 6 3 0 -6 -16
-26 16 8 | DB | 0 17 45 | dErren @ dEITV0N0.
16 -10 -5 0 -6 -16

State and prove Cayley-Hamiltan theorem.

Bo00d-r20g S VERoBBND (HHD0D DETDOBIDY.

If A, B are matrices conformable for multiplication then prove that p(AB) < p(A)
and p(AB) < p(B).

A, B © K£5°890 @6533:6 A B0 0ND p(AB) < p(A) 208030 p(AB) < p(B)
©d dEITVoHo.

State and prove ‘Schwarz’s inequality.

§TA-egf WISTRBI0 (DHD0D DETD0HOE.

State and prove Bessel’s inequality.

BYS WIDTHB DT5H0HD DETD0H0GE.

Using Gram—Schmidt orthogonalization process V, obtain and orthonormal basis for the
vector space V = R3 (R) from the basis B= { 1,-1,2), (0,2,1), 1,2,0) }

WBFoBTTo V = R (R) BnE), 85780 B=1{(1,-1,2), (0,2,1), (1,2,0) | 200 [moo-3&

0oPES ‘;)g@:{) &IBIrRoD V 8 2.8 ©oerPoo S0 G°a)é€)>o&.



(DBMATS32)
ASSIGNMENT-1

B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
MATHEMATIC — IV : NUMERICAL ANALYSIS

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

P.T. y2:1+i52.

=1+ % 5% 9 dEIVoHOE.

Interpolate the missing terms in the following table.

808 DZES"D §00d (9080)H0 @oBBEH0 T J*B80Hos.

x 01 2 3 4 5
y 03 8 15 — 35

Obtain the function whose first difference is 9x2 + 11x + 5.

D03 BBo 9x” + 11x + 5 1™ Ko 2.8 (AT ool

Write Sterling’s formula.

R8of) ?ozgoé:ﬁooéo @ra0d.

[oH]

State and prove Trapezoidal rule.
D0 ééocfo?)a': FOITR)) (DD V0D, DEITFN0D 0.
6 rd

EvaluateJ. dx by Simpson’s 3 rule.
0

1+ x?

dx
1+x

o?)oo§b DEOVDRDY EHIATRDIDN.

2

6
ST %:ﬁ TSR &IBIR0 I
0



1.

3.

(DBMATS32)
ASSIGNMENT-2

B.A. DEGREE EXAMINATION, MAY/JUNE 2025.

Third Year
MATHEMATIC — IV : NUMERICAL ANALYSIS

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Solve the equations 3x +y+2z=3,2x-3y-2=-3, x+2y+z=4 by matrix
inversion method.

3Bx+y+22=3,2x -3y —2=-3, x+2y+2=4 & JDEETo5 S IS0
Z)g@r‘{) GEARBIPROD DB oWROdN.

Derive Picard’s method of successive approximation and find y”.

DS FB0IBE o000 DY B BoIBTRoD " deHD §508%,08.

(@ @O

(b)

(a)

(i)

(@)

(ii)

@)

2

Prove that 1+ o2 4> =1+ 2.

2

2
Ji+o® =1+ % 9 DEIV0V 0.
Find f (2.5) using Newton’s forward formula from the following table.
x 01 2 3 4 5 6
y 0 1 16 81 256 625 1296

Q-

P DBE STEOr SR YEHDD ©0BBHED ArEER) &IBTR0D f(2.5)
DBVDRI EHOATHIDW.

State and prove Lagrange's interpolation formula.
B(of @oBBEDd TR (DHD0D, DETDoWID.
State and prove Newton’s divided difference formula.

éJgeos DB P& WPEERY) (HHD0D, DEIZDOVID.

Using Gauss forward formula, interpolate at x =22 given that
f(20) = 354,

f(25) = 332, f(30) = 291 f(35) =260 f(40) =231 f(45) =204.

f(20) = 354, f(25) = 332, f(30) =291 f(35) =260 f(40) =231
f(45) =204 @008  f(22) de0HRO Ao YEHDD W @e)) &2BIR0,
0BT N0 B0%00sk.



(b)

(il) Given the following values of x, find the value of e''

(1) State and prove Sterling’s formula.

RB0R @0y (DHD0D AETVOBIDM.

(1) State and prove Bessel’s formula.

BRG) W @ER) DELI0D DEI"D0WIDN.

" using Backward

formula.

x 100 1.06 110 115 120 125  1.30
er 27183 2.8577 3.0042 3.1582 3.4903 3.4903 3.6693
P 988 2000 €M de0d FY SFHID WrErR) &IBTRoD

EJROATHOD.

5. (a)

(b)

1 th

. . . s . , 1
Evaluate J sin x% dx correct to 4 decimals by Simpson’s 3 Simpson’s 3
0

rule taking
n = 10.
1
20D %, RIS é D@0 DBIPR0D jsin x dx O 4 $F0EH00 HEK
0

n =10 HE™D Kead Vaodk.
Employ Picard’s method to obtain y(0,1) of the equation 3—‘)} =x% + y*, given
x

that y, =0 when x, =0.
dy

_ 42 2 s _ _ [ 9 “,
PR AWEBEIBNVB ¥, =0,  x, =0 ©oIYPE D5°) 2GS

&IBIR0D ¥(0,1) devHH0 EX05%08.

(1) Find the root of the equation x log,, (x)=1.2 using Regula-Falsi
method.

xlogy, (x) =12 DESeH0DE BB LA &IBrRoD

BoTeer) 005704,

(i) Solve the following systems

S5x + 2y +z=12
x+4y+2z=15
x + 2y + 5z =20 by Gauss Seidal method.

D 00EGer BFHRR FR-VBS DY wgoe »HoBod.



b)) ©

(i1)

Using Gauss-Jordan method, Solve the system
2+ y+2=10; 3x +2y+32=18; x + 4y + 92 =16.

P PS50 FH-F'S 988 g 3Bod0d.

Find a root of the equation x® — 5x + 3 =0 to three decimal places by
using Newton’s-Raphson method.

BIgID -0 NS DYBY &DIBrR0D, 2’ — bx +3=0 DEePD SarerRy
DT BT PTOL V5800 E5EY,08.




(DAPOL31)
ASSIGNMENT-1
B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
POLITICAL SCIENCE — III : POLITICAL THOUGHT
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Critically Examine Plato’s Justice.
eS° DIy DRoGT o H8890BodW.

What are the features of state? What is the relation between the
Individual and state according to Aristotle?
TR0 BoY), OFETen AWE3? BRBS (B0 958 BTN TagH DS VOO0 AN

State and criticise the social Contract theory of Hobbes.
) B, DTS oty VERoTeR) HE7YH0E 5805 dPGHoBod.

What are Bentham’s view on utilitarians.
B3I OEBBAIS P BOGEHY (0500 I ?

Explain the relevance of Gandhism in National and International levels.
&S5 08050 0BT oS’ o Toweg) 9HB0BIDN.

Explain Nehru’s views on international relations.
©OBHTAOL VOVOTOP [TV° WP(EPAITOD IHBOBIDY.

State the social contract theory of Locke.
S8 B, ADIBE 2,208 VFLoTR) DEYH0G.
@

State and criticise the social contract theory of Rousseau.
8308 BooE); DR aonis ?omo"oémoéo DHBoBIDW.

What do you mean by utilitarianism, its main features.
WBEIOEBBATOS WBMTRA? T (DT OFETOR) DD BoVIDY.



(DAPOL31)
ASSIGNMENT-2
B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
POLITICAL SCIENCE — IIT : POLITICAL THOUGHT
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Bring out the contribution of Gandhi to modern Indian political thought.
&R grEB0% Traday eS8 M08 Bok), VISR 95BoBIBL.

Explain Nehru’s views on political democracy.
oees oo (DBPRGIFOR D (TI° 9 RASITON DHBoWIDW.

Write an essay on Dr. B.R. Ambedkar.
Dr. ».e8. ©02¢5),5 K778y 9HBoBoHY.

Socialism
aomé:ycsm

National movement
P Jov ) édﬁgﬁom

Extremists

9RT°00

Gandhian Era
o BasoonH0

Utilitarians
AB0e3 BB
(a) Answer ALL:

(1) Political thought
oresf %y eSS0

(i1) Social contract theory
FHTRE 2ot ?o%"oéééoo

(iii) Philosophy
BBIBY0



(iv) Indian moderates
gPEH030 DBHICEI

(v) Karl Marx
56 $°6),

(vi) Political Ideas
oresB oty eseSPhden

(vil) State and Society
DAICLIDN HoBasw @&525&)

(vii1) Radical Humanism
GES TurghoReo

(ix) Democratic Socialism
(DeeRrgHog DFAdeso

(x) Annihilation of caste
500 K)dﬁée):é

(b) Answer in 1 or 2 words :

(1) M.N. Roy
I80.d8. oodbo

(11) Origin of state
TQ0 G3NE); HDATODN

(111) Arthasastra
9EBPADN
@ <

(iv) Jawaharlal Nehru

BsSPberd TR0



(DAPOL32)
ASSIGNMENT-1

B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
PS-IV(E) — GOVERNMENT AND POLITICS OF ANDHRA PRADESH

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Why is Indian federation unique?
PES DHIYPg D0 [é)@éﬁgb@?
Explain about the formation of state of AP.

€30(STQ DT)e 809 DHBoBIB.

Write in detail about the council of Ministers.

D00 D00 KOB0D DHBOWOIN.

Explain the powers and functions of High court.

1;3?63 9 B5P0PeD 5080300 DEVOD[Y DHBOBIHN.

Explain in detail about tribal movement in India.

RS HRFINSTD RBD é&ﬁééoo 080 ST o DHBoWINN.

Explain in detail about Panchayat Raj system.
DoTANHTE DR 10809 DI dIBoBIB.

Write about the regional parties in A.P.
BO(FT RIS’ PFroda% FBo (80D [EANDW.



(DAPOL32)
ASSIGNMENT-2

B.A. DEGREE EXAMINATION, MAY/JUNE 2025.

Third Year

PS-IV(E) — GOVERNMENT AND POLITICS OF ANDHRA PRADESH

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

What are the powers and functions of Governor?
K;Sdozdo A3°Y DEHBOOND INB0NOIW.
What is the role of the Chief Minister in the state?
@‘é}.}booéﬁ DOYPSO® (B INE?

What do you mean by Good Governance?
WHBI0D 908 IAE3?

What are the powers and functions of the Speaker?
0)E6 Bk, @fseoren B9850 dEden DRI ?

(a)

(b)

(©

(d)

(e)

(®)

(g

(a)

Indian federation.
8B DIy

State Judiciary.
G"‘g a"’?SOSJ 26526‘8.
Peasant movement.
0 B00 &gHID0.
Telangana agitation.
Boomne 08D,
Pressure group.
28 & VIPTPHW.
Political parties.
ores& 0%y rGev.
State executive.
m‘é} 5°8 52)033‘&?&6@.

Answer the following in 1 or 2 sentences.
(i)  Tribal movement.

RBesd €5C3gRIDN.

(i1) Regional parties.

r0B0% aeGen.
(i11) Executive.
SPEGOTGI L.



(iv) Governor.

KSEB.

(v)  Council of Ministers.
001D 0.

(vi) State legislature
@@ SN FSTAR

(vi) Organization.
‘X)o‘é).

(viii) Chief Minister.
QYPgH0B.

(ix) National parties.
S FJev.

(x) Regionalism.
[BroBA0S.

(b) Answer the following in 1 or 2 words.
(i) Panchayati Raj.

HoTrond ool

(i1) Voting Behaviour.
8o (D983

(i11) Formation of Telanga.
BOOITEs O?)E.

(iv) Andhra Agitation.
30|00 e508°8D.



(DAPOL33)
ASSIGNMENT-1

B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
PS-1IV (E) — INTERNATIONAL RELATIONS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Discuss the origin of International relations.

@oécge%o‘jo DoOTPR DITerR) ©B)0BIDW.

Write about the world at the time of the First World War.
DEE Do ofing B0 (DDOW ‘&)8%)@2) DHBoVIDD.

Discuss its position under the league of National and United Nations.

TS Y o830 DETa; VY ?g@fo H8y0wodw.

Write about the efforts for the formation of the League of Nations.
TS DAY JTTYE BVD E)A 080 [@rof0d.

Write about the efforts for the establishment of the U.N.O and its objectives.
UN.O 5% %50 DD B 20850 o0 oFg (80 [EPA0s.

What were the causes for the outbreak of the World War II?
80D (D0 A5 D DOBKEOE e 8eTren dE?



(DAPOL33)

ASSIGNMENT-2
B.A. DEGREE EXAMINATION, MAY/JUNE 2025.

Third Year

PS-1V € - INTERNATIONAL RELATIONS
MAXIMUM MARKS :30
ANSWER ALL QUESTIONS

Write about the main organs and functions of the League of Nations.

TS WA B0E); (DTN ©0rTen D8I D0 KIr8) @rasdod.

Write about the special organisations of the U.N.O.
U.N.O. &00g), (288 Doy £:809 @S0

Explain the Non-Aligned movement.

09T S 590H00R0 DGO 9HBoBIDY.

Explain the problems and prospectus of disarmament and Arm control.

DTSN BES s D08 €3030¢S DaoBes  BWE); X)éo}()zge)o DOBAD DB

DHBoBIDW.
(a) SAARC
B,
(b) Regional organization

(©

(d

(e)

®

(8

(a)

[r0HaA% 203

Arms control
03N VO30 (B
World War I1
BOEED |DVOW otioogéoo
Super power
S038%88

ASEAN

dVaAS
International peace
OB T T°0d

Answer in 1 or 2 sentences :

(1) Modern State
e333008 @w;;éoo

(i1) Colonialism
DOVICLNDN



(b)

(111) World War
(DD0W ofingéoo
(iv) South cooperation
5860 DITSEH0
(v) Disarmament
DTOINBES €9
(vi)  World politics
[HD0% oeadasioen
(vil) World peace
(D0W B°od
(viii) Cold war
ESRN oiiwg D0
(ix) International relations
@oécge?éo‘jo V00TV
(x) Foreign policy
BN DPCHAN

Answer in 1 or 2 words :
(i) Third world

BOTED (HDODHW
(i) Decline of USSR
USSR &00%); §2%
(i) UNO
B S &

(iv) Treaty of Versailles
D8)BD wyowsDd.




(DAPOL34)
ASSIGNMENT-1

B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
PS - IV(E) — PUBLIC ADMINISTRATION CONCEPTS AND THEORIES
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain the meaning and scope of Public Administration.
(DB D ABNE); @géoo DIB03N VBB DHBoNIDN.

Explain the relation between Public Administration and Economics.
(2808g 0D HDoBasw esgéa"gm:ééo {© D000DNNDY DHBoWIDN.

What is the importance of Public Administration?
(DE0BF 0D BE); [FrH0PH D063 ?

Explain the ecological approach by Herbert Simon.
TG RIS TGO AEBES TR 9HB0BID.

Explain in detail about X theory and Y theory.
X 508050 Y ?oz:goézsoo K080 DHB o 9HBoBIDD.

Explain the Staff agencies.
D BYYOIO DHBoBVIDM.

Describe the delegated legislation.
[PBREY BRIDNDY DHBoHoDdw.



B.A. DEGREE EXAMINATION, MAY/JUNE 2025.

ASSIGNMENT-2

Third Year

(DAPOL34)

PS - IV(E) — PUBLIC ADMINISTRATION CONCEPTS AND THEORIES

MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain about line and staff agencies.
B® HOBAN FH B 80D 9HBOBIDW.

Explain comparative development administration.

éoe)méés’ &9@2599 DBOND DHB0NODD.

What are the principles of organisation?

0R B, Wr(Ered INS?

Explain public relation.

(283° DOVOTPON) D) BOoWIDN.

Public administration and Private administration.

(D8 (DEBHN DOBOKN (PBES (DEBHNH0 9DHBoWDW.

(a)

(b)

©

(d)

©)

(®

(g

Supervision

psle} 535\89

Legislation
BPAD DN

Public relation

(e VooV

Communication
3° (LB N

Centralisation
208580

Unity of Command
(-
esgg DEHH0.

Authority
9 B5PE D



(a)

(b)

Answer the following in 1 or 2 sentences:

®

(i1)

(iii)

@)

(2

(vi)

(vii)

(viii)

(ix)

x)

Social Science

o TP

Behavioural approach
(208 g T° F°ADN

Co-ordination
QDOHO30HWD

Delegation

A0

Hierarchy
DB |ED0D0

Division of work

PSERIAL )

Bureaucracy
&&° §ﬂ©°0326050
Public administration

(e DB

Decentralisation
D80 B8 e

Decision Making

pY Ao S8 Do

Answer in 1 or 2 words:

®

(1)

(i11)

(@iv)

Legislature

CRISISISTAS

Administration

ESIASTINEVAGRY

Planning

(0EFDE

Leadership
O3B D0



(DAECO31)
ASSIGNMENT-1
B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
ECONOMICS - III(E) - ECONOMIC STATISTICS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain role of statistics in the measurement of economics
activity.

&8¥ SEerroS’ (eT08 DBOY Bok), B 95B0B0G.

Briefly explain various methods of collecting primary data.
PE0E BT°0B0B0 WEBOD DD DEBooD K8 DHBOYH.

Find Quartile deviation from the following data.
59 808 SBROINHD BEITOF DB KRR,

Cl 0-10 10-20 20-30 30-40 40-50 50-60
(5518®)
Frequency 6 5 10 12 8 4
(2r0:350)

Explain the construction of index numbers with suitable
formulas.
BRY oo 8’ Dl Dogse dTYETRY 9H80H08.

Construct histogram and frequency polygon for the following
data.

o8 ST2oRRE RIS TR FPRIYD BTVENED DBRoBIB.

CI 0-10 10-20 20-30 30-40 40-50 50-60 60-70
(p518)

Frequency 10 25 40 70 35 18 5
(a‘ms@béo)



Explain the concept of skewness. Give various measures of
skewness.
eac’ov:géé BE); grHdB OB, o063 BE); DG 0B b dHBoYDW.

Explain organization of C.S.O.

C.S.0. B8, ‘f()o‘é)e);éo DHBoOYDW.

What are different kinds of classification? Explain the usefulness
of classification.
HBEYe 29 8578972 HPEe HoH &IBIMTY 9HBoDOE.

Explain any two measures in trend.

(B30& Boo¥); MP° 3ok SPov ey 9H80Hos.



(DAECO31)
ASSIGNMENT-2
B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
ECONOMICS - IIT€ — ECONOMIC STATISTICS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain the criteria for a good index number.

5009 APHE 20oYs §890 1DDTCE0H) 9H580908.
S L

Explain kurtosis.

X800 0800 HHBoydw.

Explain National income statistics.
Kezo¥ 23°H0%) esta0 K809 HBoYHW.

Fisher index number is an ideal index number — Justify.
P28 rd Doy ¥ eE38) WD Vogdy — VN8 08.

Various types of continuous series in frequency distribution.
EEOLN gresH0S® DD BB H D) Fewew.

Explain Tabulation of statistical data.
Keosee $82080 Bok), DYESED0 HBOYH.

Define Range and its merits and demertis.
T DEFIO HoBABW 7°¢3 GHEBITTeD 508050 DEIDBITPOI Be)dn.

Explain Agriculture statistics.

D0 (5705 000 DHB0YDW.

Explain Regression.

(DDHH050800 DHBOYIX.




(DAECO32)
ASSIGNMENT-1
B.A. DEGREE EXAMINATION, MAY/JUNE 2025.
Third Year
ECONOMICS - III (E) — PUBLIC ECONOMICS
MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Write about current finance commaission.

(9B e85 Dogo 80D (203006

Write in detail about fiscal policy.

&sgé D0 o080 JISOMT [T°ATNDW.

Explain the personal income and corporate income.

$58 1% esmea%00 HoBASH 5598¢5 e35°03008° 958008

Explain the public enterprises in India.

FEBBFOS (98083 DoQe 1800 dHBoBoE.

What is the role of government in public finance?
298 PTS® (HEOBY (B HD0E3?
Explain the changing perspective about the role of Government.

(DB (B H80d JIeBEBR) EyE)TRY HBoWoss.

Explain the Direct and Indirect taxes.

(DB 5E DB DEE DHPORO DHBOBIDH.

Explain the problems of organization and management.

K)og DoBASL DELTed “&)éo‘&)ese)m DHB0RBDIDD.
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MAXIMUM MARKS:30
ANSWER ALL QUESTIONS

Explain the components of budget and its role.

0G5 Bog); Frrren HBAKD TR (B0 DHBoBIDY.

Describe the structure and growth of Tax System.

X)X)o&e) éébé) K)cze'ao Do8asn ;59)@:0 DHB0RBDIDD.

Public revenue.

(e eseeasvo.

Public Enterprises.
288 doesd pb.

Indian public finance.
20&05S DBE PTR.

Tax systems.

28 BPR-

Pricing policies.

&S e,

Revenue sources.

e3T°A3) DJBoe.
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Democratic Decentralization.
(Depargiog 8o BESes.
Rural migration.

UTROED HDODBHHW

District planning boards.

By (DeTdE BSen

Rural development programmes.

Do P8yl SEyEsTen.

Explain the Social Structure and rural development in India.

RSB BHDNSE bR D§R DoBSw Lm&ampzsggm DHB0BIDY.

Write about conflict theory and revolution theory of social
change.

ITBRE DICEYE WoOFODD HI°E ?ocgoéémo $oBAw DY ?oc?;oémm 0809 [FPAs0H.

Explain various factors that determine social change.

FDIRE DI X)gogoof) DDE 0BPORN DHBOBVIHN.

Write about the Demography problems of rural areas.

[P0es [D°08 2sr™er DDIVIOD) (080D [@P50DHD.
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1. What are the advantages and disadvantages of caste system in
India?

rEBBB0SE Ho DR 3 D08II0D (DABIET O HOBASN S0H BeydD.

2. Explain the impact of social institution on social change and
social programmes.

eOIEE HICEY) HBATN HIeBE Z\))Ss?pégg:.z o K)o"?p)e) (D) 983908050,
3.  Rural development.

Lm&)owepbe)g.
4. Social stratification.

DTN HPEYe.
5. Social change and economic development.

DI D776y e8TH.

6. Forms of family.

£560002) B3Pe

7. Rural Labour.

2o £8e0.

8. Social institutions.

oY K)o“&)en



